_ w
_ €
| 0+000 :
K
_ &
112)26 I o
12,02 117184
E —— 2.0 117)78
z —
K f
o]
< I
]
3 |
T
rzedne terenu = (12,26 11,77 117,78
odlegtosci £[+65 +3,0 0,00
od osi I
|
]
X
<
°
2
u | WJ
3 ;
= Q
;| 0+004 8
£ | ¢
>
112)34 | E
8\# 11 _w.uu 11 wow
2,0% . q
_
| I
|
rzegdne terenu 112,34 111,78 117,78
odlegtosci *7.5 +3,0 0,00
od osi
1 |
X
<
K<l
2
[V) | WJ
H :
Q
5 0+012 8
¢ L
X 1>
112448 | £
l..5 5
111,94
EA_Wm _1,0% m
I
rzedne terenu |q1p4g 111,92 111,89
odleglosci +8,5 +3,0 0,00
od osi |
|

0+022,50

mur Oporowy

rzedne terenu 112,68

111,95

odlegtosci +11,0

od osi

rzedne terenu

odlegtosci
od osi

112)76

0+027,15
schody

+3,0

mur_ oporowy

112,76

111,95

+12,0

rzedne terenu

odlegtosci
od osi

+3,0

|
_
| 0+030,70 |
81 N \
[ _ e’ )
_ _ . . 1,07
| |
|| |
|l
112,81 || 12,13
+13,5 || +3,0
||
_

112,08
0,00

Sciaha budynku

=
D

112,19
0,00




